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PART - III
2 9flwes / BIOLOGY

( @lp whmb idlar anfl / Tamil & English Version |

ane Siarey : 3.00 wesfl Gryw | [ Qwrgs wilbuarser : 70
Time Allowed : 3.00 Hours | [Maximum Marks : 70

Sideyenraet : (1)  eagg dlamsseEphd sflwrs ufleurd) e drargm aearugeamer sflunisss
Qanerenayd. FsLILS6ND GepuldmUdlean emns gamsrasiiuurerfl_b
o Laigwnssd Cdafeilsseab.
2) Beod sowg smUY owuloma  WLLHGCL dWHEHEW
2y 5GaTEHeusHGL Lwau®ss CeuamHb. ULRGE udmTausnE
Quenéled Lweru(HEseL.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

@Oy : uEd-1 (2fl-grageiiwd), UGS -1 (ewWifl-alondwud) sailssal daLsgrafa
el weaflEsa|b.
Note : Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate

answer-books.

UGS - 1 (auﬁ]ﬁl-gnmryaﬁ]m&) / PART - I (BIO-BOTANY)
(8lL6luewaen : 35) / (Marks : 35)
9fley - 1/SECTION - 1
GOy : (i) Slemensg efamss@Eps@h ol wallésa,|b. 8x1=8
(ii) Gar®ssuul@erer wrHm e safler Waab ghyemLw alamLemws
CoiibOshsg1s6 GMuILOLer eleLullenamund Csigg eT(pseyL.

Note : (i) Answer all the questions.
(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

[ &mluys / Turn over
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1. penafi @ard @peld eunapd Gaugmendlu phemic| geflser :
(1) A0 (HIDLIsS@UWIT) WHDID Lol
(<) Qe CLmQaved wpmd whfaGGamwr
(@) 2@ Qur wpmid Gevig.u
() <Gsmeom oMb Qevibeu
In a fresh water environment like pond, rooted autotrophs are :

(a) Nymphaea and Typha
(b) Ceratophyllum and Utricularia

(c) Wolffia and Pistia
(d) Azolla and Lemna

2. wyysmyrl umpbuiub cfleasld srariu@D FUEIESMETS QameLgl
(=) el GLrarerMwum wHmID LIsmhIS6sSm ST
(=) eranGLmianme eueneoLidemened OHMID enwl_CLrsmer_flwm
(@) ACUTGETLSET WPHOID LISHSEISEISET
() enewGenGambser LOHMILD MGurCambser
Extra nuclear inheritance is a consequence of presence of genes in :
(a) Mitochondria and chloroplasts
(b) Endoplasmic reticulum and mitochondria
(c) Ribosomes and chloroplasts

(d) Lysosomes and ribosomes

3. aflanguier @asmblame gpuGL SpLY :

(1) elleng 2 6TEhenD (=) apenarGeurt
(@) elemsuiene Goage( (/) eflengss(pby
The scar left by Funiculus in the seed is :

(a) tegmen (b) radicle

(c) epicotyl (d) hilum
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S cupmier e1g Lig sipphdluice ?

(<) eopLymen sphd () LmevLIFED HipMHE
(@) séour swpmnd () sreoflwid Hpns
Which of the following is not a Scditmentary cycle ?

(a) Nitrogen cycle (b) Phosphorous cycle
() Sulphur cycle (d) Calcium cycle

sflwrer @@erews STLDs.

(=) Qruui - Gagmflwr Qpruevm
(<) FTwID - onGaraiwum @Geriden
(8) sleoL - MELIFEV LITLIMLIFGED

(FF) WU&smLP

apeflwr Cr&ladlwenedle

Find out the correctly matched pair :

(a)
(b)
(c)
(d)

Rubber - Shorea robusta
Dye - Lawsogia inermis
Timber - Cyperus papyrus
Pulp - Hevea brasiliensis

pBR 322-¢v, pBR erariLig) :

(1) Garmevfl urglefw wHIgal g maTa

(<) Qermaudl undefln QuEHSSD

(@) Germevfl Qurelleur wpmb Grrfsen

() QemmevtAll umedig Gomi whoid Cyrifaav

In pBR 322, pBR stands for :

(a)
(b)
(c)
(d)

Plasmid Bacterial Recombination
Plasmid Bacterial Replication
Plasmid Boliver and Rodriguez
Plasmid Baltimore and Rodriguez

[ §muys / Turn over
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7.

@Il : Spseranid edamssais gCsemIb KBresE clamssErsE elaLwaillésa)b.
Note :

9.

10.

11.

Coo . ‘ vy . s ity 108 51 (WISHD
a;r'r;rgm_a;naﬂm Hird GTEsTE)| LD @L_;};(LQGD @rlpeneoLl ungj{gm};@m m&&@ﬂ@ﬂ @

(=) HUCsT QWGSD
(<=,) <lTer Caall Wepeurey @ussd
(@) SLNECHET QuISHD

(rF) Cupsar eTgie|levame

. ] : ot arnataka is :
People’s Movement for the protection of environment 1n Sirsi of Karna

(a) Chipko Movement
(b) Amirtha Devi Bishwas Movement
(c) Appiko Movement
(d) None of the above

GLanL wrugn 2.mLws Casnglento :

(<) umev 1 (=) < Gmdlir 1
(@) Gmmfler 10 () Quedlm 2
Dwarfing gene of Wheat is :

(a) Pall (b) Atomita 1

(c) Norin 10 (d) Pelita 2

Wifley - 2 / SECTION - 2

Answer any four of the following questions.

4x2=8

QuarLalwgmg wm YWe| Qslg saTLNbEs gCsanbd Qram®d <mMellwe

Siflepisaflen Quwigmer 6r(pgs.

Give any two names of the scientists who rediscovered Mendelism.

BMILOGTTS MSBIGET eadlensullen Liridlemen (PSS

Write the role of Jasmine in perfuming.

&dﬁ]rﬂm@g S(HSSD ETETMTEL Gremen ?

What is bio-remediation ?
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12. Spaan e ulflamisalen araneafsmamu Qanan® g Wbl aamys.

UbbH& - S0, greunrusar - 1000, apwied whmid aredl - 250+250, LIMDLY ODHHILD GremTmest
- 100+50

Draw a pyramid from following quantities of organisms.

Hawks - 50, Plants - 1000, Rabbit and mouse - 250+250, Pythons and lizard -
100+50

13. auemum - ‘seouer aifluib’.

Define - ‘Heterosis’.

14. Gureandll eremmmed eTesres ?
What is Pollenkitt ?

Slfley - 3 / SECTION - 3
GOy : Spsaranid lamsseaild agCsab epem NaTésEréE almwaldsab.

ellem ereir 19 -&@ &L_Lmuwns elenLWefl&seayL. 3x3=9

Note : Answer any three of the following questions. Question No. 19 is Compulsory.

15. saumsensl Qurmeatu®d sHHwrdmd wHmIb Qurr@@mrrg,g,rrg, gHHWTHDLD-
Caumiu(hsg15.

Differentiate between missense mutation and nonsense mutation.

16. 2 W9M ueno urgsmi9e GCareiler smH&eT eTeucurm 2 g6l Lfldlemer ?

How do sacred groves help in the conservation of biodiversity ?

17. “S@meym’ eTenmmed ereunen ?
What is Embryoids ?

18. Qauliu (H&samwella aumsEsEmers GHUNHS.
Mention the types of thermal stratification.

19. LS gden uanfllgamer Lligweal(Hs.

List out the functions of tapetum.

[ &miys / Turn over
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Wfley - 4 / SECTION - 4

@Iy : sy cflemnéaEnsen oflan_welgsay. 2%5=10

Note :  Answer all the questions,

20. (=) wellgarme o meurssiiuLL sraflwgden Quweny eT(PGE. @)g ereueumy
2 (HEUMESULLL g ?

{060
(<=1) v uTeyslan memanivaer wWiraney ?
(a) Mention the name of man-made Cereal. How it is formed ?

OR

(b) What are the advantages of seed dispersal ?

21. (1) 8@HS LLSSILE Gedlem AawliaL eleufl&say.
{60608

(<) Ll QuEpsssHad LEu uRTUS Samsaner 2 HaurdEh Ldlw L Qu(mEs
Qamfleomu apamsaeris UL iqwied(hHs.

(a) With suitable diagram explain the structure of an ovule.
OR

(b) List out the new breeding techniques involved in developing new traits in
plant breeding.
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LEGE - 1 (e ff-eNeoridliied) / PART - I (BI0-ZOOLOGY)
(wHOGluestaen © 35) / (Marks : 35)
19fley - 1 / SECTION - 1
8x1=8

() emengg clennds@pd@id el wefl&sab.

()  Qar®&siuc_Heren wpp e safld Baab ehLenLw dllenLeniws
Gabs®hsss @M GLer sleweann Cargg 6T(pSab.

(1)  Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

1. oo fops Qsmpn fedurs sfley fir asdsGed LuaLRSS LGS :

(<=1) Up oasT sglisar (<) @Carmien @S
(@) Ganglss eaugze () @Ganan Caigsam
An ideal disinfectant for waste water treatment is :
(a) U-V rays (b) Chlorination
(c) Boiling (d) Ozonisation
2. @6 GHUAL QL aumpd Siwangg QendealLapbd ________ __ eram
auequnsEIUHE DS,
(1) 2197508 Tens (<) @GP LDERTL LD
(@) erevenen , () 209 srrenflger
All populations in a given physical area are defined as :
(a) Biome (b) Ecosystem
(c) Territory (d) Biotic factors

3. sanal GaiQupsssHo e euliflad GG 2 HmaNELD auems :

(o) 2AFCamGLr&s) (<) Qz0CLr&E

(@) e ACLm&dl () QermavGorGLm

The type of parthenogenesis in which only males are produced :
(a) Arrhenotoky (b) Thelytoky

(c) Amphitoky (d) Plasmotomy

[ Hpuys / Turn over
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4. ‘QemPpsrene Quenallamdsd’ e Hlapa) elend@eagl :

(=) Qupamad Goray

(<) gnewrtiulL el wrHmid

(@) QaCuméss saflawliudss s

() yelluwed geflenoriLi(bs)se

The phenomenon of “industrial melanism” demonstrates :
(a) Natural selection

(b) Induced mutation

(c) Reproductive isolation

(d) Geographical isolation

&L o drer @(pas@ner, Lnslefllu LToelamar GEMUGEGHOEUS FTLDE.

(=) Srpdl, CGeulan Gpmis wpmib Caeirg g wimedlen

(=) Slrpdl, Hermibliqwirenien, leLem_CS‘rbrru'_l

(@) dlppdl, AeulenL_Crmil, 13emyGarGumeflwimedev

() Slpdl, weanrGamCurafwradean, Quig@Gaoradav

Identify the group which includes sexually transmitted diseases caused by bacteria
(a) Syphilis, gonorrhoea and candidiasis

(b) Syphilis, chlamydiasis and gonorrhoea

(c) Syphilis, gonorrhoea and trichomoniasis

(d) Syphilis, trichomoniasis and pediculosis

< arured apriGorearmer, CLavGLmevlerrenar &rliLg) :

(1) QarCLmell Qgevaer (=) dig & Qgevaer

(@) ez Ged &(meT G () yGrrevGLL_ &yud

The male sex hormone, testosterone is secreted by :
(a) Sertoli cells (b) Leydig cells

(c) Epididymis (d) Prostate gland
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Yrss Gendems Napsd mwow Qaudighda sfiurer cuflamsamws s,

(1) ugLuHH0, QumnuwrGsH®, @riglLnged

(<) ugQUEESD, @migriunge, Qumfuigsed

(Q) peondsd, Qurll@uUuisHeo, LigEw®HHEo

(7r)

Quigtiurged, LgQWESSD, Cwmfduwurigse

Identify the correct sequence of event with reference to the central dogma of
protein synthesis.

(a) Transcription, Translation, Replication
(b) Transcription, Replication, Translation
(c) Duplication, Translation, Transcription
(d) Replication, Transcription, Translation
QummESS :
sufflens I auflens II
(1) &SesCueaiur CLrGermeumef i) <oBSGwurde
(2) e gsfffur urendlrmeslg (ii) &meom - &I
3) wAuuCGeammGamonr GawbiGlwiemen (ill) grés eflwns
4) eraBur adlevLmelig&m (iv) wrenersamed Crmi

(=1) (1)-G1), (2)-(iv), (3)-(iid), (4)-()
(<) (1)-(), (2)-(v), 3)-[), (4)-()
(&) (1)-Gi), (2)-(), (3)-(i), (4)-(iv)
(FF)  (1)-(1), (2)-(iv), (3)-(iii), (4)-(ii)
Match the following :

(1)
(2)
(3)
(4)
(a)
(b)
()
(d)

Column I : Column II
Leishmania donovani (i) Amoebiasis
Wuchereria bancrofti (ii) Kala-azar
Trypanosoma gambiense (iii) Sleeping sickness
Entamoeba histolytica (iv) Filariasis

(1)-(1), (2)-(v), (3)-(ii), (4)-(1)
(1)-(ii), (2)-(iv), (3)-(1), (4)-(i1i)
(1)-Gi1), (2)-(1), (3)-(ii), (4)-(iv)
(1)-(2), (2)-(iv), (3)-(iii), (4)-(ii)
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9fley - 2 / SECTION - 2

OBy : aGa@id BrenE clammas@nd@ o Hib ol wieflbsab. 4x2=8

Note : Answer any four of the following questions.

9. Qauall smeyms® WwHOID LS (Heymige - Goumi (D).
Differentiate between External and Internal fertilization.

10. urdeiemas Qsmhp Cprismars & & PODEHEET GT(LPSIG.
Write the preventive measures of STDs.

11. urieflaflus Camiunr@s@ssstear el &msgdadr gCHLD @) TeTILOET 6T(LPS)S.

Write any two objections to Darwinism.

12. aswreg - cueUNISESLD.
Define : Zymology’.

13. saw(h CFvseT eraiue Wireneu ?
What are stem cells ?

14. “ACuweran srhsar yulsGsreflar maqlrors smsiuGdpg’ - Qbs

Qerp@mrLeny HwmuiL(éss. _
Amazon forest is considered to be the lungs of the planet earth. Justify this
statement.

19fley - 3 / SECTION - 3

GOILY : Spssnamid ddamssals aCsaib epem clanmésEnée el walldseylb.
aflenm eramr 19 -&@ SLL_muwns 6l wallése,Lb. 3%3=9
Note : Answer any three of the following questions. Q.No.19 is Compulsory.

15. wafls wyugmd S b e wWaTHL L b erar Si@P&SLULHE DG ?
Why the human genome project is called a mega project ?

16. 2 9Aws Sirey eremmmed eTemmen ?
What is Bioremediation ?
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17. o Lp@ae Ly $lddony OHMILD @e

: a3 g6 1oL NEFens - Goumi(hEs)5.
Differentiate betwe " LGz

en somatic cell gene therapy and germ line gene therapy.

18. Qepgrau LSsah - Qengl Lm 2_qné@, Olgfleug) ereme ?
Red data book’ - What do you know about it ?
19. U’ auigeu HmiId ‘S’ euig.eu cuamiias) auanara|senar GeumiL(hSss.
. . '
Differentiate J’ and ‘S’ shaped curves. N
\Yfley - 4 / SECTION - 4
GSMILY : 1Gemeuqmd efemss@nsE elaweflssaib. 2x5=10

Note : Answer the following questions.

Y]

20. (=) waily FGearmbd Hii b LOGeumy Wiy Crmisailar HHsmssE auflauEsdng.
Q&smperp HuTLLLGSSS. :
| SI6V6VG)
() A Ceed 2 (meunssd Qewdwaperw eleufEsab.

(a) HGP is the window for treatment of various genetic disorders. Justify the
statement.

"y

OR

(b) Describe the process of Oogenesis

21. (=) swseLsrliL Crmi g Hens LIHPLILL L SOLSMIL SIORISONGD, -
Bumudu®sgs.
360605
(<=3,) @ed wrauMigarme gHUBD elameTals e wrene ?

i

(a) Auto-immunity is a misdirected immune response. Justify.
OR i d
(b) What are the effects of noise pollution ?

-00o0-
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